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1.Given: 1. interface A { public void aMethod(); } 2. interface B { public void bMethod(); } 3.
interface C extends A,B { public void cMethod(); } 4. class D implements B { 5. public void
bMethod(){} 6. } 7. class E extends D implements C { 8. public void aMethod(){} 9. public void
bMethod(){} 10. public void cMethod(){} 11. } What is the result?

A.Compilation fails because of an error in line 3.

B.Compilation fails because of an error in line 7.

C.Compilation fails because of an error in line 9.

D.If you define D e = new E(), then e.bMethod() invokes the version of bMethod() defined in Line 5.

E.If you define D e = (D)(new E()), then e.bMethod() invokes the version of bMethod() defined in Line 5.
F.If you define D e = (D)(new E()), then e.bMethod() invokes the version of bMethod() defined in Line 9.
Correct:F

2.Given: 20. public class CreditCard { 21. 22. private String cardID; 23. private Integer limit; 24.
public String ownerName; 25. 26. public void setCardinformation(String cardID, 27. String
ownerName, 28. Integer limit) { 29. this.cardID = cardID; 30. this.ownerName = ownerName; 31.
this.limit = limit; 32. } 33. } Which statement is true?

A.The class is fully encapsulated.

B.The code demonstrates polymorphism.

C.The ownerName variable breaks encapsulation. D.The

cardID and limit variables break polymorphism. E.The

setCardInformation method breaks encapsulation.

Correct:C

3.Given: 1. class Super { 2. private int a; 3. protected Super(int a) { this.a=a; } 4. } ... 11. class Sub
extends Super { 12. public Sub(int a) { super(a); } 13. public Sub() { this.a = 5; } 14. } Which two,
independently, will allow Sub to compile? (Choose two.)

A.Change line 2 to: public int a;

B.Change line 2 to: protected int a; C.Change

line 13 to: public Sub() { this(5); } D.Change

line 13 to: public Sub() { super(5); } E.Change

line 13 to: public Sub() { super(a); } Correct:C

D

4. Which two statements are true? (Choose two.)

A.An encapsulated, public class promotes re-use.

B.Classes that share the same interface are always tightly encapsulated.

C.An encapsulated class allows subclasses to overload methods, but does NOT allow overriding methods.
D.An encapsulated class allows a programmer to change an implementation without affecting outside
code.

Correct:AD

5.Click the Task button.



Feplace two of the Modifiers that appear in the Single class to make the code compile.
Mote: Three modifiers will not be used and four modifiers in the code will remain
unchanged.

Code Modifiers to be moved
public class Single {
| private || static | Single instance; protectad
| public || =static | Single getInstance() {
if (instance == null) instance = create();
return instance:
}

Singlel) £
Single create() { return new Single(); }
F

class SingleSub extends Single Diahe

}

Correct:

Green choice1---->Yellow Choice5

Green choice3---->Yellow Choice1

Green choice5---->Yellow Choice3

Green choice2---->Yellow Choice2

Green choice4---->Yellow Choice6

6.Click the Exhibit button. What two must the programmer do to correct the compilation errors?
(Choose two.)

mblic zlass Car
private int wheslCount:
private String wvin;
miblic Car(String wvin) {
thi=s.vin = wvin:
thi=. wheelCount = 4:

returnh "zoon—zoomn'

1

2

3

4

5

b

T ¥

a. public String drive() {
9

10 i

11 public String getlnfol) {
1z "

; return “"VIH: + win + whesls: +

wheslCount ;
13. T
14. %
And:

1. public class MeGo extends Car

E piblic HeGol(String win) £

3. thi=. wheslCount = 3;

4. T

E. 1}

A.insert a call to this() in the Car constructor
B.insert a call to this() in the MeGo constructor
C.insert a call to super() in the MeGo constructor



D.insert a call to super(vin) in the MeGo constructor

E.change the wheelCount variable in Car to protected

F.change line 3 in the MeGo class to super.wheelCount = 3;

Correct:D E

7.Given: 1. class ClassA { 2. public int numberOfinstances; 3. protected ClassA(int
numberOfinstances) { 4. this.numberOfinstances = numberOfinstances; 5. } 6. } 7. public class
ExtendedA extends ClassA { 8. private ExtendedA(int numberOfinstances) { 9.
super(numberOfinstances); 10. } 11. public static void main(String[] args) { 12. ExtendedA ext =
new ExtendedA(420); 13. System.out.print(ext.numberOfinstances); 14. } 15. } Which statement is
true?

A.420 is the output.

B.An exception is thrown at runtime.

C.All constructors must be declared public.

D.Constructors CANNOT use the private modifier.

E.Constructors CANNOT use the protected modifier.

Correct:A

8.Click the Task button.

Given:

clazs A {
String nams = "A";
String getHams() {
return namnes;
T
String greeting(){
return "class A"

b
zlaz=s B extend=s A {
String nams = “"B";

String greeting{}'{
return "class B";

T

public clas=s Client {
public =tatic void main{ String[] arg=s ) {
Aoa = new Al
& b = new Bl
Sy=tem.out . printlni{a. gresting() + " ha=z namns + a.getHame( )
Sy=tem. out println(b. grestingi)] + " has= name " + b.getHame()l):
b
i

cla== | Place here has nane Flace here
cla== | Place here has nane Flace here

Mames to be moved
[ S

[ane

Correct:

Green choice1---->Yellow Choice1
Green choice1---->Yellow Choice2
Green choice2---->Yellow Choice4



Green choice1---->Yellow Choice3

9.Which two code fragments will execute the method doStuff() in a separate thread? (Choose two.)
A.new Thread() { public void run() { doStuff(); } }; B.new

Thread() { public void start() { doStuff(); } }; C.new

Thread() { public void start() { doStuff(); } }.run(); D.new

Thread() { public void run() { doStuff(); } }.start();

E.new Thread(new Runnable() { public void run() { doStuff(); } }).run();

F.new Thread(new Runnable() { public void run() { doStuff(); } }).start();

Correct:D F

10.Click the Task button.

Eiven: 10. FEunnable r = new Runnable() {
11. public woid runi) {
12. try 4
13. Thread =lesp( 10007 ;
14. } catch {InterruptedEzception &) {
15. Sy=temn . out println{"interrupted"):
16 T
17. System.out .println{"ran"):
18. T
19

e
20. Thread t = new Threadir):
21, t.=tarti):
22. System.out.println{'"started");
23. t.zleep(z2000);
24 . System.out.println{'"interrupting”);
25. t.interrupt():
26. Sy=temn.out . printlni"ended"):

Azsume that sleepin] executes in exactly n miliseconds, and all other code
executes in an insignificant amount of time.

Flace the fragments in the output area to show the result of running this code.

[InterruptedException

Qutput Fragments

| Flace here | |interrupted |
| Flace here | |[Ean |
| Flace here | |=tarted |
| Flace here | |interrupting |
| Flace here |  |ended |

|

!

[rane

(s e oty

Correct:

Green choice7---->Yellow Choice5

Green choice5---->Yellow Choice4

Green choice3---->Yellow Choice1

Green choice2---->Yellow Choice2

Green choice4---->Yellow Choice3

11.Click the Exhibit button. What is the output if the main() method is run?



Siven:

10. public class Starter extends Thread {

11. private int ® = 2;
12. public =tatic woid main(String[] args)
throws Exception {
13. new Starter() makeltSol):
14, T
15. public Starteri) {
16, FER
1% starti);
18.
19. public woid makeltSol) throws
Exception {
20, joini):
21. = == — 1;
22. Sysztem.out . println(=z);
23 T
24 . public woid runf) £ = *= 2: }
25. %}
A4
B.5
c.s8
D.9

E.Compilation fails.

F.An exception is thrown at runtime.

G.It is impossible to determine for certain.

Correct:D

12.Click the Task button.
Place the code elements inta the class so that the code compiles
and prints "Fun. Fun . dolt" in exacthy that arder. Mote that there

may be more than one correct solution.

public class TesTwo extends Thread {

public =tatic woid main (String[] a) throws Exception {
TesTwo t = new TesTwol);
t.=tarti};

| Place here |

| Place here |

| Place here |

public woid runi) £
Sy=ztem. out .print{"Fun. ");

r
public woid dolt() {
System.out print("dolt. "i;

i
ks
[Ctistartdys | | X deintis | topause(iB)c) [ xand)s |
[Cikermmtiye || [ Badoitene || [ #ekiige 1
Done
Correct:

Green choice6---->Yellow Choice1
Green choice3---->Yellow Choice2



Green choice7---->Yellow Choice3
13.Click the Task button.

Flace the code fragments into position to produce the output:

trus true false

Code
Scanner s=canner = new Scanner( "One.b true, 3 true.b6.7. false");
scanner . useleliniter( ", ")
while Flace here | e
if i Flace here | Yo
5ystem.nut.print{| Place here + "ty
Ealka | Flace here |
I
Code Fragments to be moved
| @caﬁnemhasNeﬂBunhaﬂ]_| | santer nextBooleanf] |
Dioke
| seannersest]] | | scanner hashiet]] |
Correct:

Green choice4---->Yellow Choice1

Green choice2---->Yellow Choice2

Green choice3---->Yellow Choice3

Green choice1---->Yellow Choice4

14.Given a valid DateFormat object named df, and 16. Date d = new Date(0L); 17. String ds =
"December 15, 2004"; 18. // insert code here What updates d's value with the date represented by
ds?

A.18. d = df.parse(ds);

B.18. d = df.getDate(ds);

C.18. try { 19. d = df.parse(ds); 20. } catch(ParseException €) { };

D.18. try { 19. d = df.getDate(ds); 20. } catch(ParseExceptione) { };

Correct:C

15.Which three statements concerning the use of the java.io.Serializable interface are true?
(Choose three.)

A.Objects from classes that use aggregation cannot be serialized.

B.An object serialized on one JVM can be successfully deserialized on a different JVM.

C.The values in fields with the volatile modifier will NOT survive serialization and deserialization.

D.The values in fields with the transient modifier will NOT survive serialization and deserialization.

E.lt is legal to serialize an object of a type that has a supertype that does NOT implement
java.io.Serializable.

Correct:BD E

16.Click the Task button.



Chain these constructors to create ohjects to read from a file named "in® and towrite to
a file named "out."

reader = | Flace here | | Flace here TR ¥

writer = | Flace here 1] Place here [l Place here tout” 31

Constructors to be moved
| e FileR eader i1l riew PrintReader| | [ rewBufferdReads] |

| new Bulferadwriter] i rew Fileiafriter] | | rie Prnfuriker |

Correct:

Green choice2---->Yellow Choice1

Green choice1---->Yellow Choice3

Green choice3---->Yellow Choice4

Green choice5---->Yellow Choice2

Green choice6---->Yellow Choice5

17.Given: 1. public class TestString3 { 2. public static void main(String[] args) { 3. // insert code
here 5. System.out.printin(s); 6. } 7. } Which two code fragments, inserted independently at line 3,
generate the output 42477 (Choose two.)

A.String s = "123456789"; s = (s-"123").replace(1,3,"24") - "89";

B.StringBuffer s = new StringBuffer("123456789"); s.delete(0,3).replace(1,3,"24").delete(4,6);
C.StringBuffer s = new StringBuffer("123456789"); s.substring(3,6).delete(1,3).insert(1, "24");
D.StringBuilder s = new StringBuilder("123456789"); s.substring(3,6).delete(1,2).insert(1, "24");
E.StringBuilder s = new StringBuilder("123456789"); s.delete(0,3).delete(1,3).delete(2,5).insert(1, "24");
Correct:B E

18.Given: 12. public class Wow { 13. public static void go(short n) {System.out.printin("short");}
14. public static void go(Short n) {System.out.printin("SHORT");} 15. public static void go(Long n)
{System.out.printin(" LONG");} 16. public static void main(String [] args) { 17. Shorty = 6; 18. int z
=7;19. go(y); 20. go(z); 21. } 22. } What is the result?

A.short LONG

B.SHORT LONG

C.Compilation fails.

D.An exception is thrown at runtime.

Correct:C

19.Given: 11. interface DeclareStuff { 12. public static final int EASY = 3; 13. void doStuff(int t); } 14.
public class TestDeclare implements DeclareStuff { 15. public static void main(String [] args) { 16.
int x = 5; 17. new TestDeclare().doStuff(++x); 18. } 19. void doStuff(int s) { 20. s += EASY + ++s; 21.
System.out.printin("s " + s); 22. } 23. } What is the result?

Ass 14

B.s 16

Cs10

D.Compilation fails.

E.An exception is thrown at runtime.

Correct:D



20.Click the Task button.

The image at right represents a complete package structure

for a set of classes: "com” is the beginning of the fully- 0 E_':"'”
gualified package name for all classes. — 2 foo
Given this package structure, insert the code needed to make 23 bar
the Car class compile and run successfully. | g
All three placeholders must be filled. If fewer than three @ L e
statements are needed, use the "/ blank® option. i) blatz
Flace here @ Book class
Flace hers _"ib%
Car class
Flace hers |__-I itz

public class Car
Bool: bool
Dog dog:

|— @ Sun class

inport ocomn. foo- bar- blats *;

package zon. feoo bar blatz;

import oon. bar %)

inport coi ¥

packsgs com bar

packags com

import com. foo *

#F blank

inport o con. fooe bar. %

import comn oo bar Book Cione

Correct:

Green choice8---->Yellow Choice1
Green choice2---->Yellow Choice2
Green choice6---->Yellow Choice3
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